Rear Cargo Tailgate for Can-Am Maverick X3
ZP-YJ-030603-161

SAUT\S'

BEFORE YOU BEGIN

Read these instructions and check to be sure all parts and tools are accounted. Please retain these
installation instructions for future reference.

IMPORTANT

This REAR CARGO TAILGATE KIT is exclusively designed for your vehicle. Please read the
installation instructions thoroughly before beginning. Installation is easier if the vehicle is clean and
free of debris.

INSTALLATION INSTRUCTIONS

1. Shift vehicle transmission into “PARK”. Turn
key to “OFF” position and remove from vehicle.
2. Assemble part 1 and part 2 with 8 hex
socket screws of M6*16, 8 gaskets of M6 and 8
locknuts of M6.

4. As shown in the figure, remove the 6 screws
on the original vehicle for standby.

A \‘ \ A’. | \‘J

5. As shown in te fiur, emove the 2 scréWs
on the original vehicle and the 2 nuts at the
3. Assemble part 3 and part 4 on both sides bottom for standby.

with 6 M6 *16 hex socket screws, 6 M6 gaskets
and 6 M6 locknuts.




Rear Cargo Tailgate for Can-Am Maverick X3

ZP-YJ-030603-161

SAUT\sS'

6. Install the rear fence on the carriage using
the two removed M6*50 hex socket screws and
nuts.

7. Fix the guardrail on the rear carriage with 6
hexagon screws of M6*30 removed, as shown
in the figure, and tighten all the screws.

8. Use two straps to fix the guardrail on the

\[ Vk‘i_

rear post of the frame.




	BEFORE YOU BEGIN
	IMPORTANT
	INSTALLATION INSTRUCTIONS

